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Solution Stoichiometry

Directions: Think! Do all 10 stpes.

1. What mass of sodium chromate is required to precipitate all the silver ions from 75.0 mL of a 0.100

M solution of silver nitrate? _ ) | \
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2.  What volume of 0.100 M sodium phosphate is required to precipitate all the lead (1f) ions from
150.0 mL of 0.250 M lead (lI) nitrate solution?
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3.  What mass of calcium sulfate can be produced from 17.6 mL of a 0.500 M calcium chloride solution
reacting with excess potassium sulfate solution?
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4.  How many milliliters of 0.250 M sodium hydroxide solution are needed to completely react with
50.0 mL of a 0.750 M solution of iron (lll) nitrate?
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5. 1f18.34 mb of lead (Il) nitrate solution is needed to completely react with 25.0 mL of a 0.100 M
potassium chloride solution, then what was the concentration of the lead (i) nitrate solution?
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6. What mass of solid aluminum hydroxide can be produced when 50.0 mL of 0.200 M aluminum
nitrate solution is added to 200.0 mL of 0.100 M potassium hydroxide solution?
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